SEQUENCES - (2)





The format for finding out what is going on with these is all very similar to before.





Basically, we are now going to look at sequences that involve n2.





Example:-





Work out the nth term of this sequence, and use it to complete the table.


���������


		Term (n)		1	2	3	4	5	10	50


�		


		Sequence (s)		2	8	18	32	50


��������





					 + 6	 + 10	+ 14	  + 18


������





					          + 4          + 4        + 4





Keep working out the difference until it is always the same


�


				If it takes 2 steps - you need n2


			


				If it takes 3 steps - you need n3	etc...





So our example above has got something to do with n2.








����	1	n2	1	Not quite, so		1	2n2	2 	That’s it





����	2 	n2	4				2	2n2	8





����	3	n2	9				3	2n2	18	etc...





So the nth term of our sequence is 2n2.





We can use this to finish off the table, because if 	n = 10 then 2n2 = 200


						n = 50 then 2n2 = 5000














